Pemnre HepaBeHCTBO (CHUCTEMY HEpaBEHCTB).
1. a) (x%—2x)?+436x+45<18x?%: 6) (x2+8x)% <2x?+16x+63.

2 a) (x> 4+ 1)?+3<7x%, . (x? —=2)?>+5<6x2,
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(3% 4+ 3x)% < 8x2 + 24x + 20: (x2 = 2x)%2 +36x +45 > 18x2.
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5. a) jx_1+11 f>24; 6) Ty +5¢ =1 >6.
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7.a) 3sin’x—sinx—42>0:
{6sin2x—55inx+1gt},
a

8sin®x — 6sinx + 1 =0;
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9.a) 9+ —=26-3:""=32=20;
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6) 2cos®x+cosx —3=0.
8cos®x+10cosx+3 >0,
6cnszx+?cnsx+2£0.

6) 4:"2 —4.2:"2_8>0.
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(2,5)° — (0,4)*"2 >5,25.

11. a) logZ(25—x?) —3logs (25 —x?) +2>0;
6) log’ (64 —x*) —5log, (64 —x*) +60.
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logg x —log, 9>1,5,
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4+log,x = log,(2x) \ 4+log, x

~1)>0;
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5+log, x * 1+log,(2x) (5+lﬁgzx B 1) >0.



